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Solve on NBP.   

  

Reducing Fractions                                            Change to improper 

  

 

Change to mixed 
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Hint 3 

If the 2 numbers of the fraction end in 0 and/or 5, you can divide by 
5

5
. 

14

9

570

545

70

45
  

 
Hint 4 
If both numbers end in zeros, you can cancel the zeros in pairs, one from the 

top and one from the bottom. This is the same as dividing them by 
10

10
 for each 

cancelled pair. 
 

25

2

250

24

50

4

50000

4000

50000

4000
 

 
Hint 5 

If you have tried to cut the fraction by 
2

2
, 

3

3
, 

5

5
 and gotten nowhere, you 

should try to see if the top number divides into the bottom one evenly.  For 

69

23
,  none of the other hints help here, but 69  23 = 3. This means you can 

reduce by  
23

23
.        

3

1

2369

2323

69

23
 

 

For more help on reducing fractions, see page 13 
 

Exercise 4  (answers on page 39) 
Directions: Reduce these fractions to lowest terms 

1. 
18

14
 

 

2. 
100

80
 3. 

36

18
 4. 

5000

400
 

5. 
25

20
 

 

6. 
36

27
 7. 

45

40
 8. 

81

63
 

9. 
12

9
 10. 

85

60
 11. 

51

17
 12. 

75

50
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Exercise 3 (answers on page 41)  
Simplify the following fractions. Reduce if possible. 

1)   
5
6 = 

 
 
 

2)  
4
5 = 3)   

3
7 = 

4)  
6
10 = 

 
 
 

5)  
2
4 = 6)   

4
6 = 

7)  
3
15 = 

 
 
 

8)  
12
20 = 9)   

4
19 = 

10) 
5

23 = 

 
 
 

11) 
3
18 = 12) 

5
17 = 

13) 
9

37 = 

 
 
 

14) 
8

28 = 15) 
9

47 = 

16) 
4

106 = 

 
 
 

17) 
2
17 = 18) 

20
140 = 

19) 
10

162 = 20) 
5

38 = 21) 
3

52 = 
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Exercise 5 (answers on page 40) 
Solve the following fraction word problems. Cancel and simplify your answers. 

1. A stack of boards is 21 inches high. Each board is 1¾ inches thick. How  
        many boards are there? 

 
 
 
 
 

2. A satellite makes 4 revolutions of the earth in one day. How many    
    revolutions would it make in 6½ days? 

 
 
 
 
 

3. A bolt has 16½ turns per inch. How many turns would be in 2½ inches of  
threads? 
 
 
 
 
 

4. If a bookshelf is 
8
128  inches long, how many 

8
71  inch thick books will it  

hold? 
 
 
 
 
 

5. Deborah needs to make 16 costumes for the school play. Each costume  
requires 

4
12  yards of material. How many yards of material will she  

need? 
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Mixed Numbers 
A “mixed” number is one that is part whole number and part fraction.  

3
211,

8
54,

2
13 are samples of mixed numbers. Mixed numbers have to be 

written as fractions only if you’‛re going to multiply or divide them or use them 
as multipliers or divisors in fraction problems. This change of form is easy to 

do. Think about 
2
13  . That’‛s 3 whole things and half another. Each of the 3 

wholes has 2 halves ( 1
2
2 ) . The number 3 is 1+1+1 or .

2
2

2
2

2
2    That’‛s 

2
6 and, with the original 

2
1   , there’‛s a total of  

2
7 . You don’‛t have to think of 

every one this way; just figure the whole number times the denominator 

(bottom) and add the numerator (top)   .
2
7

2
123

2
13   

2
7

2
123

2
13                                   

8
37

8
532

8
584

8
54  

 

3
8

3
26

3
232

3
22                    

9
104

9
599

9
5911

9
511  

 
Exercise 6 (answers on page 39) 
Change these mixed numbers to “top heavy” fractions: 

1.   
8
75  2.   

3
29  3.  

2
12  4.  

8
11   

 
 

5.   
2
113  6.   

4
37  7.  

5
212   8.  

9
59  

These “top heavy” forms are “work” forms, but they are not usually acceptable 
answers. If the answer to a calculation comes out a top heavy fraction, it will 
have to be changed to a mixed number. This can be done by reversing the times 

and plus to divide and minus.  
2
13 became  

2
7 by 

2
132 .  

2
7 can go back to  

2
13 by dividing 7 and 2. 



 
 

 

 

Solve … make a sketch or model first. 

 

 
 

 

 

On Saturday, Johnny Ray caught 16 fish using live bait.  If he caught 1/5 of his fish 
using lures, how many fish did Johnny Ray catch altogether? 

 

 

 


